sk BIEZEAEK CIEERER
el A B [ D KK MM || A B D KK MM
321 25 | 34 | 14 | M16X1.5P | 18 18 | 34 12 | MI2X1.25P | 14
40 | 30 | 40 | 19 | M20X1.5P | 224 (| 25 | 36 14 | M16X1.5P | 18
50 35 46 24 | M24X1.5P 28 30 40 19 | M20X1.5P | 224
63 | 45 55 30 | M30X1.5P 35 35 46 24 | M24X1.5P | 28
80 | 60 65 41 | M39X1.5P 45 45 55 30 | M30X1.5P | 35
100 75 | 80 | 50 | M48X1.5P | 56 60 65 | 41 | M39X1.5P | 45
1250 95 | 95 | 65 | M64X2P 70 75 80 | 50 | M48X1.5P | 56
150 | 115 [ 110 | 80 | M76X2P 85 85 | 90 | 60 | M60X2P 67
180 | 140 | 125 | 96 M95X2P 100 110 | 105 | 75 M72X2P 80
200 | 150 | 140 | 105 | MI100X2P 112 120 | 115 | 85 MEBOX2P 90
224 | 180 | 150 | 121 | M120X2P 125 140 | 125 | 96 MO5X2P 100
250 | 195 | 170 | 135 | MI30X2P | 140 || 150 | 140 | 105 | MI100X2P | 112
0 AW FP___ Pdyfe  AEERT
B 17 | HgsEsEEgs |
| |
~ ! ) T T 7
BN ST =R
Bl N _E [ __g é_[__ T T i I 4-DD
KK / S T ———] -
@ | @ Ty 16 |7 H+{7T#E | K B]‘rBB
SD-TYPE  HEED", ' (i |
(CO-1) 7I+f7H2
Sl BB DD E|EE|F |[FP|H|T |K|J]LE|] P |RR|W]| 77 |LZ
32 | 11 | M8X1.25P| 58 | 3/8" [ 11 |39 |55 | 44 [ 30| 140 | 87 | 40 | 30| 170 | 15
40 | 13 [M10X1.25P| 67 | 3/8" |11 |39 | 55 |44 |30 ] 140 | 87 | 47 | 30| 170 | 15
50 | 13 [M10X1.25P] 80 | 12/ |13 |42 |60 |47 |34 ]154] 96 | 56 | 30| 184 | 13
63 | 15 |[MI2X1.5P | 90 | 12" |15 [ 45 [ 65 |48 [ 34162 [ 101 | 65 [ 35] 197 | 14
80 | 20 [M16X1.5P [ 110 [ 34" [ 18 |53 170 [ 56 [40 | 184 | 112 ] 80 | 35| 219 | 10
100 | 22 [ MI8X1.5P | 135 | 34" [ 20 |55 | 75 |56 [40 | 191 | 1171102 | 40 | 231 ] 1C
125 | 25 | M22X1.5P | 165 1" |24 | 68 | 80 | 68 |48 [ 220 | 128 | 124 | 45 | 265 | 10
150 | 30 [ M28X1.5P | 196 | 1" [ 28 |70 | 95| 68 [48 [ 239 | 145] 148 | 50 | 289 | 10
180 | 37 | M30OX1.5P | 235 [ 1Va |33 | 78 [110] 75 |57 | 2751 170 | 182 | 55| 330 | 10
200 | 39 | M33X1.5P | 262 [1V7" [ 37 |87 [120] 82 [ 62 ]| 301 | 184 | 200 | 55 | 356 | 10
224 | 48 | M39X1.5P [ 292 [ 1V [ 41 [ 91 [120] 82 [ 62 | 305 | 184 | 225 | 60 | 365 | 10
NEN AN NANV 1T L&D 2NK AN AL 1NL 1N 1NN QN QAA ANN NN AR A1A1 ir




